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30/1 QUESTION PAPER CODE 30/1 

EXPECTED ANSWER/VALUE POINTS 

SECTIONA 

x = 3 is one root of the equation 

.. 9-6k-6 = 0

k = -
2 

The required numbers are 2 and 4. 

HCF of2 and 4 is 2. 

OP= ✓x2 +y2

a+ 6(-4) = 4 

⇒ a = 28 

cos 67° = sin 23° 

cos2 67° - sin2 23 = 0 

arMBC AB
2 

arL\PQR 
= 

PQ2

= (½r = ¼

SECTION B 

Let us assume 5 + 3✓2 is a rational number. 

⇒ 

⇒ 

5 + 3✓
2

= E where q ,t. 0 and p and q are integers. 
q 

✓2 = p-5q 
3q 

✓
2 

is a rational number as RHS is rational 

"lnis contradicts the given fact that ✓2 is irrational. 

Hence 5 + 3✓2 is an irrational number. 
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